IR wa =~
2 N S
X 5 o
wE ISE 2 2 8|z &
< [ O 3 o
2 ¥ 5 8 8 B 5 8 8 8 &% 8 2.2 = co|° |07 &
e T T s I e e Lo oS DUNIE T wo| L5 2 z — >
— 2 | %
vl £ |0 Y
° .
: | 3
= a
s | O
[ 1E diy
[ | 3 = o
o a /
g H L m
| €8 = pa g5
S s 5 N =
~ ° 3 |0 M z | &
2| 58 |w O Jg|s
> ) @
glgs (>0l & N
. 0 - ~
| 2601 | sio6 | 21061 2 £ |16 |Q _nlv W a |=|=
I IS s | = _a=2 zZ3 |2 N8
cz'0L 7 9coss T 61061 83 =co |85 | ax] O O |z|¢g
2 S35 | Qo= | 83 w oA |g|°
.0 12822128 |3Y¥ 0 :
3¢ lggci|g: 28lO | Y
- 006 -+ 95061 1 L2061 - coftf | WBeo | 25 |w kS x|l o
S Sl Q.5 9 W |- =
=5q9® o T 7 o« |= 2 D (0
T2 O o = @S [ %
= _© > O o g o5 ‘»
= ~ o O ~ N m (O] O [T} E
T o= O o o5 | 4
X 47w DT 5 k=l N
w gt | 2922 E3 |0z 4
= =~ = o © o o °
SLaszs | 0coo|lzg | o o
ez | Z -2 |82 | = s
F0s9 tosemteemm] L2 | WEFE| BE | O g
983 5 w s * £ I =< a |
o =S J L x5 | 2% 5 5|2
-GG +ssem 168l V=8 2 a &2 s |2 g 2|9
X >S5 5 <S> = 8 | m 5 2| <
mw 2z =z L3 s | W @ 5=
- 60°G + zz'881 - 56981 - ® g z | N g & S|z
. 2. 3|2 |z 3 v | g
L 26 4 vosr | sev | S I g3 = | g £ |8
2 = & 2
i = la 8 |. >
m = = ,m w AJ_V ..
& z 3 |9 _m = £ <
p < 2 N w=|S = £
Y Q <
5 5 5 e 1533z 2 |z|&
o 17 o} a 2 < 535 O | w
iy z S g b Z|@ 2|E
o j=]
3 =
wo wo
o o
x3 x3
S8 - 000 + oot61 + #g061 3s R Y N
A3 33
X x°
N N
FG9'G—— ££'88) 1 SL'88)
F88°9— vL'881 1 988}
L Z0°/— o09as1 | 12881 ]
F9e/—T L8980 T L£'98)
F00'6—- SL06L + £9'161 -
-G/ 6— 0,061 + 9161
G2 0l — 65061 1 8L°161
Hi/LL— 25161 - Z8°161
F8L 'Zl— ¥8°161 - #8'161
+ +——+ +——+ + 06-5+ £6-+6+ s ——+ +— +——+ +—— + B6-G+ A
> 00u w 8 ‘B & OOU w % W 3 %
S 7 Y X a 2 2 S x x g
=] S
318t 318 |t
2| S | £ 2 | § | =
Bl [ [ 2 [ o
3 & & 3 & <
S 8 &8 3 8 8 5 8 3 5 08 3 8 » 8 8
e e et 06-G+ P96 Tt Tt 06-6+ S48t e 06-6+ 95484
H LS+ 0481 + §9481
-NM.QN--omsmh--gmsmh-
50T ggos1 T ogost | )
- G/'6 + £0'161 + £8°061 - /86 + 9588 + v /81
L 006 + 20161 1 887061 - - Gl'6 66881 1 8./8)
- C¥'G + 60681 1 £8/81
- 08/ + 9168 + sowal -
F0/L'C + 2h(8l 1 2vL8i
- GZ'C + £1/81 1 0v'/8I
- G/ + 8281 1 6£/81
007 + 2581 + 65181
o o o
S S S
o o LS
<8 <8 2§
Wm F 000 + £¥'161 + 25161 Wm - o000 < Zv'68l | ozesl WM I o0 — 68781 | ecum -
S 2% 23
R R R
& & &
00— Z£(81 1 8¢/81
-G/ T— 828} 1 85/8)
FGZ'C— £1/81 1 L£/81
F19°C—+ 95/81 1 95/8)
F00'6— ¥i161 1 02261
-G/ 66— 6016} 1 22’261
FGZ 0l — %6061 + ¥Z'261
FGG Ll — 2¥'68) 1 ££'681
H08°L | — £6'16} 1 6226}
H0C'ZL—~ 18261 + 1£261 - Loc 71| 601+ 22681 -
H/8°Cl— 12'681 - 08°681
1£L°CL—| v681 | Sg681 |
[96°c1—| 99681 | 98'681 |
+ ——+ ——+ ——+ ——+ + 06-5+ e + -+ +—— +—— +——+ + 66-5+ 4 + +——+ +——+ +—— + 665+ 96°984+—
-y UU T My T UU T 1 OO0 TF
S 3 & 3 3 8| 5 8 8 8 b 8| % 8 8 ® 8 8| 4
~— ~ ~— ~— o ~— -— ~— ~— ~— 3 - ~ ~ ~— -~ Q
=] 3 3
3 1% | ¢ 318t 18|t
.M S 2 .M 5 S .M £ 5
Ko ® ® Q. [ [ Q2 [ [
3 & & 3 & & 3 < &
S s S > S S S S 3] ] N S S S N 3
T LT Ml M it T VaVallall oolR) T T LT LT Ml T VaVallall 0688+ T T M it LT T FaVallaYl 20
T 1 i L T U TF JZ70Y T T 1 I i T OO IF ov T L L T v UU T vz
L GGOI | s1681 | z1684 |
TGzl cc6aLT v1681 |
- G/'6 + 8r681 1 L1'68)
- 006 -+ 25681 + 22681 -
| 0£°L | £9161 | £9161 |
" /¥, T SS'16L T #9164 7
- 16°9 + £5'16L 1 £9'161
- 8C°9 + 65161 1 0L'161
- 6/°G + 29’161 1 ZL'16)
-G/ + L9161 1 8L'161
- vlY + 69'161 1 08°46)
- £9°C + ¥8/81 1 v8'/81
- CIC L vL161 + 68164 - GZ°C - 65481 + £981 -
-G/ T + vL/8) 1 08'/8)
- 9C°C + 6L'161 1 £8'16}
- 0077 8481+ 08281
- 8G°L + Z8'161 - 68'161
3 $ 3
S . . . ] ]
38 - £C°0 + 88161 + 167161 mm mm
S - 000 - 16161 + #6160 || B8 - 000 - 96681 + 52681 3s L wo | cguer+ wm
e o &3
mo F1G0— 06161 1 L6716} 3° 3°
e & e
00— 8.8} 1 8L/8)
-18°Z—-1 06161 + 21261 - LG/ T—+ vL281 + 2L 481
| GZ°C— | 66481 | 1481 |
LG e—-t zg161 + 21261 - epe=T wes T uus
-0y — S6°161 - 12261
-2G v — 62261+ SZ'Z61
00 '6— L6'68) 1 ££°061
-G/ '6— 26'681 - 85061
GZ 0L~ ££'681 + Zv'061 -
1£0°LL—{ zs06s | 8v061 |
(G L—T 16061 T 05061 7|
A ————— ——+ + Jalalial] 46~ + ——— ——+ + JaYalal] 96-06+— + ——+ ——+ P + VaValiatl 98+
L UU T}V UU T}V T U JF
3 R 8§ T 8| & 8 8 &l g 8 8 8 & 8|4
2 S 2 g 2 2 x o 3 2 Y x S X g
=} > >
8 S s 8 ‘S 5 3 S S
o N & o N S o e S
Bog () [ 2 [ [} 2 [ [}
S S S S S S S S S
3 & & 3 & & 3 & &
S o o S o oz S o oz
3 8 & B 8 8 &8 3 8 8 8 S 8 8 & 8
R LS B 066+ Sr16+ e 00-G+ S5 e e L o e 065+ 9559
4y}
Lot £5'164 | 25164 |
£G°161 | £5161
FG9°Cl+ #5161 + #6161
F¥LCl - 967161 1 96°161
- £9°L1 + 85161 1 95161
- 6601 09’16 + 09'46)
-0/ 0L+ #5681 1 ¥5'681
- SE0b 196k - 297161 - GZ0L+ va681 1 L5681
I~ Nmm -1 £9°161 + ¥9°161 - - mN m —+ 66681 + 0968 -
- 826 + ¥9'16L - G9'I61
- 00°6 + #0061 59681
- 228 -+ 99161 + L9161 -
- 718 + 89’161 1 69°161
- £G/ -+ o161 ++ 22161
|
- 06°9 + 2161 1 ¥L'16) [
- ¥Z°9 + 161 I LL161
- $G°C + L6} 1 6L°16)
- 69 - 08161 + £8°161 -
- G8°C + £8'161 | 98°161 Lo6¢ L 15891 + 15881 -
- 09 T 881 1 0cegl
- #LC + S8'161 1 987161 - 66°C | 9298l - 82981
| - £0°C 1 62881 1 §2'981
- 017 + 68161 1 26'161
- 9%l + 267161 1 S6'16)
[=] o [=]
X = =
<8 <8 <8
Wm - 00°0 + 66161 1 1061 Wm - 00°0 + L¥ 061 52061 Wm - oo - 85991 + seem -
B+ v+ “+
3" : . . 3 3
S -28'0— 00261 + ¥0Z61 S S
21— 0c'881 1 61'881
-0G'Z— 20261 + 1126
) . . /97— 52881 + 21891
F80°C—-1 c0Z6L + #1261 - JE O
FEC—+ + 1
. zies | zissl
VA &%
FEY Y — 90261 - 02261
-20°'G— 90261 1 62261
-9/ G—-1 60761 + S£261 -
| ¥£°9— | ccz6l | zvzel |
269" #ve6s | w26l |
00 '6—- 95061 + S6°061
-G/ 6— 1061 1 ¥0°16)
G2 0l — 94°061 1 60°16)
H0G' |l — 66061 1 £2°161
H£6°LI— 82161 1 8Z'16)
+ 1+ ——+ ——+ + 66-5+ #6+ + —+ ——+ +—— +—— + 0G-5+ 2h46+ + +——+ -+ +——+ + H6-5+ 98484+
~l VU TV i U IV T LA a4 2
S B 9 3 S| 2 8§ 3 8 8 8| 4 S 8 8 & 8|4
~— — A Qo —~ A ~— — — Q A — — ~ — Q
S 3 =]
3 1% ¢ Sl |t Sl |t
-2 S 3 -2 S 3 2 S I
.0 © ® .0 [ O Q. [ [
3 & & 3 & & 3 & &

GLEIXL6C




	Sheets and Views
	5.0


